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In triangle ABC , ZABC=90°,2 ADB=90°(BD=5 dm, ACm. What is
the area of the triangle? -

I. 40 sq.c.m
2. 20sg.c.m D B

3. 10sg.c.m

7{\ None
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Poll 2

What 1s the area of a triangle having sides’ length of 2 ¢cm, 3 cm

anm? 9\*3:5

——

1. 9sqg.cm
2. 18 sgq.c.m 5-<€> /
. 11 sq.cm

\ﬂ/ None




Poll 3

OA and OC are bisectors of £ EAC and £ FCA respectively. If
£ AOC=50°then LABC=?

L
. LLROT
L0
2. 130 ~ e




Poll 4
Here 1s an 1nscribed qua teral anls the diameter of
the circle. ZBAD=£BAC. If AC=6¢ Ocm. BD=? c.m
\J/;
2. 9
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The sum of the two opposite angles of a inscribed quadrilateral is
two right angles.




If two opposite angles of a quadrilateral are supplementary,

then the four vertices of the quadrilateral are concyclic.
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1. It the internal and external bisectors of the angles £B and £ C of triangle ABC meet

) \ .
re concyclic.
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2. ABDC 1s an 1nscribed quadrilateral. If the bisectors of ZCAB and
£CBA meet at the point P and the bisecBA and £DAB meet at

point Q , then prove %the four points A,P,Q,Bre concyclic. P

A c DPop- WYLLACS £ A C
W ARz AYE -

% - 90 %—Az_m)b

T

% — 08 B
, —/pab
. w ' BN___ /D

o ofe




_
< . 3. The chords nd é@of a circle with center O meet at E-léhtfgngleg at
@J- oint insidethe circle, prove that £ AOD+ 2 BOC=2right angle
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6. If the vertical angles of two trian
supplementary, then prove thattheir circum-circles are equal.
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